Today we have programmed Charging Current versus Temperature and Charging Voltage as following table:

Charging
0A 3.75A 7.5A 3.75A 0A voltage =
mv=4vi 0 OO ] 1 42V
Charging
voltage =
0A 3.75A 7.5A 3.75A OA 41V
0A 0.25A 0.5A 0.25A OA
LV =22V
Programmed at 1A but fixed by hardware pre-charging resistor at
0A 820 so current will be between (16.8 =4 x 1.5) / 82 = 131mA and 0A
(16.8-4x2.2)/ 82 =97.5mA
Precharge start
voltage = 1.5V
OA 0A 0A OA 0A
T1=0°C T2=T5= T3=T6= T4 =60°C
10°C 45°C
We could have programed like that :
Charging
voltage =
________________________ 4.2V
Charging
0A 3.75A 7.5A 3.75A 0A V°:al‘o’\f =
MV = 3.6V
75A 0A
0A 3.75A 7.5A 375
MV = 3.0V
0A 0.25A 0.5A 0.25A OA
LV =2.2V

Programmed at 1A but fixed by hardware pre-charging resistor at
0A 820 so current will be between (16.8 —4 x 1.5) / 82 = 131mA and 0A
(16.8-4x2.2) /82 =97.5mA

Precharge start
voltage = 1.5V

0A 0A 0A 0A 0A

T1=0°C T2=T5= T3=T6= T4 =60°C

10°C 45°C

Is there really a difference about the two settings because in both case, we have the same charging current from
MV (3.0V) to 4.2V?



